
Replacement Parts Catalog
- Marimbas & Xylophones - 

March 2010

(except Marimba Artist)



page 1

Marimbas & Xylophones

XS2LD35

XS1KV35, XS2KV35

XS2HV35, XS2LV35, XS2HV40, XS2LV40

XS1HV35, XS1HV40

XC1HV40, XC2HV40

MSPV43, MSHV43, MSPV40

MSPVJ30

MCPV43, MCHV43, MCKV43

page 9XS2LD35 Xylophone Solist 3 oct. desktop

page 7XS2 Xylophone Solist octave tuned

page 3MSPVJ30 Marimba Solist Junior

page 8XS..KV35 Xylophone Solist zelon

page 6XS1 Xylophone Solist quint tuned

page 5XC Xylophone Concert

page 4MS Marimba Solist

More information
page 2MC

Cat# Description
Marimba Concert

--------- (AD4MS)- ------



1

2

3

4

5

6

7

8a

8a

8b

8b

9

page 2

Marimba Concert

PMA106 Long left leg with wheel for marimba
PMA107 Long right leg with wheel for marimba

8a

page 22MCKV43 101 Set of bars for concert marimba zelon 4 1/3 octave

page 22
page 22

More informationDescription
MCPV43
MCHV43

Type

table I (pos 9)

085
084
Cat#

Set of bars for concert marimba rosewood 4 1/3 octave
Set of bars for concert marimba padouk 4 1/3 octave

MCKV43 Concert marimba zelon 4 1/3 octave
MCHV43 Concert marimba rosewood 4 1/3 octave
MCPV43

DescriptionCat#
Concert marimba padouk 4 1/3 octave

page 18
page 20

page 12
page 13

page 11

More information

page 10
page 101

5
4
3
2

9
8b

7
6

-

049
050
029
005
PMA71

108
PMA01

Cat#Pos# Description
Height adjustment assembled (set of 2 pieces)
Y-adjusting rod voyager frame assembled (black)
Large end piece for concert marimba 
Small end piece for concert/solist marimba 
Set of rails for concert marimba
Set of resonators for concert marimba

Cat# is dependet on instrument, see table I

Connecting rod concert marimba

page 21
page 21

-----------------1---1(AD4MS)1---------------



1

2

3

4

5

6
7

8a
8a

8b

8b

9

page 3

Marimba Soloist Junior 3 octave

page 14

page 21
page 20
page 18

page 10
page 10

DescriptionCat#
MSPVJ30 Solist junior marimba padouk 3 octave

More information

page 12
page 11

1

5
4
3
2

8b
8a
7
6

PMA106
PMA107

051
052
030
006
PMA44

108
PMA01

Cat#Pos# Description
Height adjustment assembled (set of 2 pieces)
Y-adjusting rod voyager frame assembled (black)
Large end piece for marimba solist 3 & 4 octave
Small end piece for marimba solist junior 3 octave
Set of rails for marimba solist junior 3 octave
Set of resonators for marimba solist junior 3 octave

Left leg with wheel for xylophone / junior marimba
Right leg with wheel for xylophone / junior marimba

Connecting rod marimba solist junior 3 octave

9 Set of bars marimba solist junior padouk 3 octave086 page 22
page 21

(AD4MS)r--------



1

2

3

4

5

6

7

8b

8a

8b

8a

9

page 4

Marimba Soloist

page 21

page 10
page 10

page 21

page 14
page 12

page 20
page 18

page 11

More information

0513

031
050

PMA107

PMA72
007

8a

6
7

4
5

PMA106
8b

Connecting rod marimba solist 4 octave

Right leg with wheel for xylophone / junior marimba
Left leg with wheel for xylophone / junior marimba

Set of resonators for marimba solist 4 octave
Set of rails for marimba solist 4 octave
Small end piece for marimba concert/solist
Large end piece for marimba solist 3 & 4 octave
Y-adjusting rod voyager frame assembled (black)
Height adjustment assembled (2 pieces)

Solist marimba padouk 4 octave
DescriptionCat#

MSPV40

DescriptionCat#
1081

2

Pos#

PMA01

PMA103

MSHV43 Solist marimba rosewood 4 1/3 octave
MSPV43 Solist marimba padouk 4 1/3 octave

DescriptionCat#

table I (pos 9)

page 22MSHV43 089 Set of bars for solist marimba rosewood 4 1/3 octave
page 22
More information

088MSPV43
DescriptionType Cat#
Set of bars for solist marimba padouk 4 1/3 octave

page 18
page 20
page 21

page 12
page 14

page 11

More information

page 10
page 101

5
4
3
2

8b
8a
7
6

PMA102

053
050
032
008
PMA73

108
PMA01

Cat#Pos# Description
Height adjustment assembled (set of 2 pieces)
Y-adjusting rod voyager frame assembled (black)
Large end piece for marimba solist 4 1/3 octave
Small end piece for marimba concert/solist
Set of rails for marimba solist 4 1/3 octave
Set of resonators for marimba solist 4 1/3 octave

Left leg with wheel for marimba
Right leg with wheel for marimba

Connecting rod marimba solist 4 1/3 octave

9
page 21

Cat# is dependet on instrument, see table I-

Set of bars for solist marimba padouk 4 octave9 087 page 22

(AD4MS) 



1

2

4

3

5

6

7
8a

8a
8b

8b

9

page 5

Xylophone Concert

Set of resonators for concert xylophone 4 oct., octave tuned

Concert xylophone rosewood 4 oct., octave tuned

page 10
page 10

page 15
page 12
page 11

page 20
page 19

Y-adjusting rod voyager frame assembled (black)
Height adjustment assembled (set of 2 pieces)

Large end piece for concert xylophone 4 oct., octave tuned
Small end piece for concert/solist xylophone
Set of rails for concert xylophone 4 oct., octave tuned

Connecting rod concert xylophone 4 oct., octave tuned

More information

DescriptionCat#
XC2HV40

108

055
034

058

1
2

4
5

3

010
PMA48

6
7

PMA01

Pos# Cat# Description

XC1HV40 Concert xylophone rosewood 4 octave, quint tuned
DescriptionCat#

page 19
page 20
page 21

page 12
page 15

page 11

More information

page 10
page 101

5
4
3
2

8a
7
6

PMA106

056
057
033
009
PMA49

108
PMA01

Cat#Pos# Description
Height adjustment assembled (set of 2 pieces)
Y-adjusting rod voyager frame assembled (black)
Large end piece for concert xylophone 4 octave, quint tuned
Small end piece for concert xylophone 4 octave, quint tuned
Set of rails for concert xylophone 4 octave, quint tuned
Set of resonators for concert xylophone 4 octave, quint tuned

Left leg with wheel for xylophone / junior marimba
Connecting rod concert xylophone 4 octave, quint tuned

page 23Set of bars for concert xylophone rosewood 4 octave, quint tuned090
8b
9

PMA107 Right leg with wheel for xylophone / junior marimba page 21

page 21Right leg with wheel for xylophone / junior marimbaPMA107
9
8b

091 Set of bars for concert xylophone rosewood 4 oct., octave tuned page 23

Left leg with wheel for xylophone / junior marimbaPMA1068a page 21



1

2

3

4

5

6

7
8a

8a

8b

8b

9

page 6

Xylophone Soloist quint tuned

page 21

page 16

page 21
page 20
page 19

page 11
page 12

Description
XS1HV40
Cat#

Solist xylophone rosewood 4 oct, quint tuned

page 10
page 10

More informationDescription
108
Cat#

1
Pos#

055
059

012
036

7

3
4
5
6

2

PMA47

PMA01

PMA1078b
PMA1068a

Height adjustment assembled (set of 2 pieces)
Y-adjusting rod voyager frame assembled (black)
Large end piece for solist xylophone 4 oct., quint tuned
Small end piece for xylophone
Set of rails for solist xylophone 4 oct., quint tuned
Set of resonators for solist xylophone 4 octave
Connecting rod for solist xylophone 4 octave
Left leg with wheel for xylophone / junior marimba
Right leg with wheel for xylophone / junior marimba

page 21
page 21
page 20

page 12

page 19
page 16

page 11

Solist xylophone rosewood 3.5 oct, quint tunedXS1HV35
DescriptionCat#

More information

page 10
page 101

5
4
3
2

8b
8a
7
6

PMA106
PMA107

054
055
035
011
PMA45

108
PMA01

Cat#Pos# Description
Height adjustment assembled (set of 2 pieces)
Y-adjusting rod voyager frame assembled (black)
Large end piece for solist xylophone 3.5 oct., quint tuned
Small end piece for xylophone
Set of rails for solist xylophone 3.5 oct., quint tuned
Set of resonators for solist xylophone 3.5 octave

Left leg with wheel for xylophone / junior marimba
Right leg with wheel for xylophone / junior marimba

Connecting rod for solist xylophone 3.5 octave

Set of bars for solist xylophone rosewood 3.5 oct., quint tuned0929 page 22

Set of bars for solist xylophone rosewood 4 oct., quint tuned9 093 page 22



1

2

3

4

5

6

7 8b8a

8b

8a

9

Connecting rod for solist xylophone 3.5 octave
Left leg with wheel for xylophone / junior marimba

Set of resonators for solist xylophone 3.5 octave
Set of rails for solist xylophone 3.5 oct., octave tuned
Small end piece for xylophone
Large end piece for solist xylophone 3.5 oct., octave tuned
Y-adjusting rod voyager frame assembled (black)
Height adjustment assembled (set of 2 pieces)
DescriptionPos# Cat#

PMA01
108

PMA45
011
037
055
060

PMA107
PMA106

6
7
8a

2
3
4
5

1

page 7

page 10
page 10

More information

Xylophone Soloist octave tuned

Cat# Description
XS2HV35 Solist xylophone rosewood 3.5 oct, octave tuned

Connecting rod for solist xylophone 4 octave
Set of resonators for solist xylophone 4 octave
Set of rails for solist xylophone 4 oct., octave tuned
Small end piece for xylophone
Large end piece for solist xylophone 4 oct., octave tuned
Y-adjusting rod voyager frame assembled (black)
Height adjustment assembled (set of 2 pieces)

PMA01

PMA47

2

6
5
4
3

7

038
012

061
055

Pos#
1

Cat#
108

Description More information

Solist xylophone rosewood 4 oct, octave tuned
Cat#
XS2HV40

Description

page 11

page 17
page 19

page 12

page 20

page 10

page 17

page 20
page 19

page 12
page 11

page 10

Solist xylophone light rosewood 3.5 oct, octave tunedXS2LV35

Set of bars for solist xylophone light rosewood 3.5 oct, octave tuned
Set of bars for solist xylophone rosewood 3.5 oct, octave tuned

XS2LV35
XS2HV35
Type Description

Solist xylophone light rosewood 4 oct, octave tunedXS2LV40

page 23
page 23

More information
table I (pos 9)

Cat#
094
098

Set of bars for solist xylophone rosewood 4 oct, octave tuned
Set of bars for solist xylophone light rosewood 4 oct, octave tuned099XS2LV40

Cat#
095

Type
table II (pos 9)

XS2HV40
Description

page 23
page 23

More information

page 21
page 21

9
8b

-
Right leg with wheel for xylophone / junior marimba
Cat# is dependent on instrument, see table I

Cat# is dependent on instrument, see table II
Right leg with wheel for xylophone / junior marimba

-
8b
9

8a PMA106
PMA107

Left leg with wheel for xylophone / junior marimba page 21
page 21



1

2

3

4

5

6

7
8a

8a

8b

8b

9

page 8

Xylophone Soloist Zelon

Set of bars for solist xylophone zelon 3.5 oct., octave tuned

page 10

page 11
page 12
page 17
page 19
page 20

page 10

page 21
page 23

page 21

page 21
page 23

page 16

page 21
page 20
page 18

page 11
page 12

page 10

PMA1078b
8a PMA106 Left leg with wheel for xylophone / junior marimba

Right leg with wheel for xylophone / junior marimba

PMA1078b Right leg with wheel for xylophone / junior marimba

Description
XS2KV35
Pos#

Solist xylophone zelon 3.5 oct, octave tuned

More informationDescription
108
Cat#

1
Pos#

055
060

011
037

7

3
4
5
6

2

PMA46

PMA01

0969

Height adjustment assembled (set of 2 pieces)
Y-adjusting rod voyager frame assembled (black)
Large end piece for solist xylophone 3.5 oct., octave tuned
Small end piece for xylophone
Set of rails for solist xylophone 3.5 oct., octave tuned
Set of resonators for solist xylophone 3.5 octave
Connecting rod for solist xylophone zelon 3.5 octave

Solist xylophone zelon 3.5 oct, quint tunedXS1KV35
DescriptionPos#

More information
page 101

5
4
3
2

9

8a
7
6

PMA106

100

054
055
035
011
PMA46

108
PMA01

Cat#Pos# Description
Height adjustment assembled (set of 2 pieces)
Y-adjusting rod voyager frame assembled (black)
Large end piece for solist xylophone 3.5 oct., quint tuned
Small end piece for xylophone
Set of rails for solist xylophone 3.5 oct., quint tuned
Set of resonators for solist xylophone 3.5 octave

Left leg with wheel for xylophone / junior marimba

Set of bars for solist xylophone zelon 3.5 oct., quint tuned

Connecting rod for solist xylophone zelon 3.5 octave



F#
5

G
#5

A
#5

C
#6

D
#6

F#
6

G
#6

A
#6

C
#7

D
#7

F#
7

G
#7

A
#7

1

3

4

1

2

6
7

8
9

5

14

12
11

10

9

13

15

page 9

Xylophone Soloist Desktop

Name plate Adams, silverPM16411
10 Plastic holder for stand

1

5
4
3
2

9
8
7
6

PB803

PB802
PB055

PB800
PB801
PB565
PM003A
PM006

PM144
PM145

Cat#Pos# Description
Aluminium frame xylophone desktop Natural
Aluminium frame xylophone desktop Accidental
Large endpiece for xylophone desktop
Small endpiece for xylophone desktop
Coach bolt M6x20
Rubber bushing 12x10x23 

Handgrip black plastic
Hexagon socket button head screw (black) M6x12

Rubber bushing 18x10x22, on first pen only

Description
PM120
-

Cat#
1

BARS

Pos#
Cord with 2 springs for solist xylophone 3,5 octave
Bar, cat# is XS2LR + note   e.g. XS2LRC5  or XS2LRC#5

Set of bars for xylophone solist desktop light rosewood 3,5 octave
DescriptionCat#

0981

Xylophone solist desktop light rosewood 3,5 octaveXSLD35N
DescriptionCat#

Hexagon socket countersunk head screw (black) M4x10PB80512
PB804 Plastic buffer, black Ø1513

14 0981 Set of bars for xylophone solist desktop light rosewood 3,5 octave

F#
4

G
#4

A
#4

C
#5

D
#5

F4 G
4

A
4

B
4

C
5

D
5

E
5

F5 G
5

A
5

B
5

C
6

D
6

E
6

F6 G
6

A
6

B
6

C
7

D
7

E
7

F7 G
7

A
7

B
7

C
8

See below
Stand for xylophone solist desktop4KLSTZ15

POS. Naam Omschrijving Artikelnr.
Defa
ult/Q
TY.

1 VR100 - - 1
2 VR099 - - 1
3 VR098E - - 1
4 VR098A frame aluminium tafel-xylofoon halve tonen, gezet BVR098ME00000 1
5 A1A18Z0602000 zwart gepass. 4.6 slotbouten d603/555 m 6*20 A1A18Z0602000 8
6 A9GR114102100 rubber ring rond 18*10*22 mm - 100
7 A9GR118102200 rubber ring rond 18*10*22 mm - 4
8 A1Z99CHG06120 handgreep kunststof zwart, steek 120 lengte 139 hoogte 40 mm - 1
9 A1A14Z0601200 zwart gepass. 10.9 bzk laagbolkopschroef iso7380 + flens m 6 *12 A1A14N0601200 10
10 FS005 - - 4
11 A9SAMX00001Z1 naam plaat ADAMS 125 x 38 mm ( zilver kleur ) - 1
12 A1A16S0401000 zwart gepass. 8.8 bzk verzkopschr d7991  m 4*10 A1A16Z0401000 2
13 A1B13Z0400000 zwart gepass. st borgmoer/nylr  d985 m 4 A1B13Z0400000 2
14 TXFS2DTOL35X1-2 Toetsen set HALF XYL SOLIST HR/KK; bijv: XXFS1HRXST350 - 1
15 TXFS2DTOL35X1-1 Toetsen set HEEL XYL SOLIST TAFELMODEL HR XXFS???XST000 1
16 A0ZZ3Z0000000-XS2LD-35half Polyesterkoord zwart, rond 5mm, sp. 250 mtr A0ZZ3Z0000000 1
17 A0ZZ3Z0000000-XS2LD-35heel Polyesterkoord zwart, rond 5mm, sp. 250 mtr - 1
18 A9ZS250150100 trekveer klb dr: 1.5, du: 11.9, lo huis 48.7 gezwart A9ZS250150100 4
19 A0EK10M000550 EPDM plug, rond 13.45 x rond 15 mm lengte 18 mm, ZWART (t.b.v. tafel-xylofoon) A0EK10M000550 4

POS. Naam Omschrijving Artikelnr. explo/QTY.
1 VR100 - - 1
2 VR098A frame aluminium tafel-xylofoon halve tonen, gezet BVR098ME00000 1
3 VR098E - - 1
4 A1A18Z0602000 zwart gepass. 4.6 slotbouten d603/555 m 6*20 A1A18Z0602000 8
5 VR099 - - 1
6 A1Z99CHG06120 handgreep kunststof zwart, steek 120 lengte 139 hoogte 40 mm - 1
7 A1B13Z0400000 zwart gepass. st borgmoer/nylr  d985 m 4 A1B13Z0400000 2
8 A9GR114102100 rubber ring rond 18*10*22 mm - 100
9 A1A14Z0601200 zwart gepass. 10.9 bzk laagbolkopschroef iso7380 + flens m 6 *12 A1A14N0601200 10

10 FS005 - - 4
11 A9SAMX00001Z1 naam plaat ADAMS 125 x 38 mm ( zilver kleur ) - 1
12 A1A16S0401000 zwart gepass. 8.8 bzk verzkopschr d7991  m 4*10 A1A16Z0401000 2
13 A0EK10M000550 EPDM plug, rond 13.45 x rond 15 mm lengte 18 mm, ZWART (t.b.v. tafel-xylofoon) A0EK10M000550 4
14 A9GR118102200 rubber ring rond 18*10*22 mm - 4
15 TXFS2DTOL35X1-1 Toetsen set HEEL XYL SOLIST TAFELMODEL HR XXFS???XST000 1
16 TXFS2DTOL35X1-2 Toetsen set HALF XYL SOLIST HR/KK; bijv: XXFS1HRXST350 - 1
17 A0ZZ3Z0000000-XS2LD-35half Polyesterkoord zwart, rond 5mm, sp. 250 mtr A0ZZ3Z0000000 1
18 A0ZZ3Z0000000-XS2LD-35heel Polyesterkoord zwart, rond 5mm, sp. 250 mtr - 1
19 A9ZS250150100 trekveer klb dr: 1.5, du: 11.9, lo huis 48.7 gezwart A9ZS250150100 4

shawnlafrenz
Callout
CD300



1

3

4

5

6

7

8

10

11

12

13

14
15

16

17

18

2

9
9

14

14

2

3

1

page 10

Height adjustment assembled

Y-adjusting rod assembled

or PMA05 Height adjustment assembled (1 piece)

Description
Height adjustment assembled (set of 2 pieces)

PM135 Plastic slide part

108
Cat#

Cogwheel 12 t. for connection part
18

PM020
Connection part (black)

17
PM068

Worm wheel (yellow)
16

PM071
Steel insert protection (black)
Slice for height adjustment 
Steel disk (black)
Fill-washer
Plain washer rubber 25x12x8.5 mm
Plain washer rubber 18x8x4 mm
Crank handle plastic, grip length 80 mm (black)
Bearing
Plain washer M12 (black)
Thumb screw steel M10x20 (black)
Hexagon socket button head cap screw M6x12 (black)
Hexagon socket button head cap screw M4x10 (black)

1

5

3
2

11
10
9
8
7
6

PM007
PM005

PBB03
PB534

PB112
PB114
PB131
PB411

PB056
PB509

Cat#Pos# Description

15
14
13
12

PM021

PM072
PM073
PM074

Hexagon socket button head cap screw M6x20 (black)
Wing-screw plastic (wingwidth 40 mm) M8x20 (black)

4

Y-adjusting rod assembled
DescriptionCat#

PMA01

Description

Fixing washers for wing screw
Wing-screw plastic (wingwidth 40 mm) M8x45

Y-adjusting rod

1
2

Pos#

3

PB511
PB433
PM022

Cat#



page 11

Large end piece

Description

2
1

5
4
3

Pos# Cat#
PB125
PB129
PM004
PM011
PD005

Countersunk head tapping screw, black, 3.5 x 32 mm
Cross recessed countersunk head screw, black, 3.5 x 30 mm
Plain washer rubber 13 x 10 x 23, black
Rubber for resonator, nr. 2
Countersunk head screw m8 x 32 mm, black

8
7
6 PM029

PM030
PM031

Suspension bracket for rails nr. 1, black
Suspension bracket for rails nr. 2, black
Suspension bracket for rails nr. 3, black

Suspension bracket for rails nr. 3, black
Suspension bracket for rails nr. 2, black

Large end piece for solist xylophone 4 oct, octave tuned
Large end piece for solist xylophone 3.5 oct, octave tuned

061
060
059 Large end piece for solist xylophone 4 oct, quint tuned

Description
054
Cat#

Large end piece for solist xylophone 3.5 oct, quint tuned

053 Large end piece for solist marimba 4 1/3 octave
051 Large end piece for solist marimba 3 & 4 octave

Description
Large end piece for concert marimba049

Cat#

Suspension bracket for rails nr. 1, black
Countersunk head screw m8 x 32 mm, black
Rubber for resonator, nr. 3

1

5
4
3
2

8
7
6

PM031

PM004
PM009
PD005
PM029
PM030

PB125
PB129

Cat#Pos# Description
Countersunk head tapping screw, black, 3.5 x 32 mm
Cross recessed countersunk head screw, black, 3.5 x 30 mm
Plain washer rubber 13 x 10 x 23, black

058 Large end piece for concert xylophone, octave tuned

3 4 1 5

7 8

4 1

6 2 2 2 27

6

23

4 4

1 1

7 7 4 4

5

8

2 21 1

Large end piece for concert xylophone, quint tuned056

(AD4MS) 

shawnlafrenz
Callout
#2&#3 

shawnlafrenz
Callout
#4 



1

8 4 7 7 4 6

3

2
5

8 4 7 7 4 6

3

2 1
5

page 12

Small end piece
DescriptionCat#

Small end piece for concert xylophone, quint tuned

Description

2
1

5
4
3

Pos# Cat#
PB125
PB129
PM004
PM008
PD005

Countersunk head tapping screw, black, 3.5 x 32 mm
Cross recessed countersunk head screw, black, 3.5 x 30 mm
Plain washer rubber 13 x 10 x 23, black
Rubber for resonator, nr. 1
Countersunk head screw m8 x 32 mm, black

8
7
6 PM029

PM030
PM031

Suspension bracket for rails nr. 1, black
Suspension bracket for rails nr. 2, black
Suspension bracket for rails nr. 3, black

Suspension bracket for rails nr. 3, black
Suspension bracket for rails nr. 2, black

057

Description
055
Cat#

Small end piece for solist/concert octave tuned xylophone

052 Small end piece for solist junior marimba 3 octave
Small end piece for concert/solist marimba050

Suspension bracket for rails nr. 1, black
Countersunk head screw m8 x 32 mm, black
Rubber for resonator, nr. 2

1

5
4
3
2

8
7
6

PM031

PM004
PM011
PD005
PM029
PM030

PB125
PB129

Cat#Pos# Description
Countersunk head tapping screw, black, 3.5 x 32 mm
Cross recessed countersunk head screw, black, 3.5 x 30 mm
Plain washer rubber 13 x 10 x 23, black

POS. Naam Omschrijving Artikelnr. QTY.
1 A1A1CZ0353200 zwart gepass. bolverz-kk plaatschr. d7983c st 3.5*32 mm A1A1CZ0353200 6
2 A1A1DZ0353000 zwart gepass. HECOFIX PLUS verz spaanplaatschr. met kruisgleuf 3.5 * 30 mm A1A1DZ0353000 12
3 A9GR114102100 rubber ring rond 18*10*22 mm - 8
4 VR027 - - 2
5 C1B12B0802300 houtmoer M8*23 mm met kraag ( zwart verzinkt ) - 1
6 TR011 ophangbeugeltje_1 - 1
7 TR004 ophangbeugeltje_2 - 2
8 TR012 ophangbeugeltje_3 - 1
9 VR001H Description Artikelnr. 1

POS. Naam Omschrijving Artikelnr. QTY.
1 A1A1CZ0353200 zwart gepass. bolverz-kk plaatschr. d7983c st 3.5*32 mm A1A1CZ0353200 4
2 A1A1DZ0353000 zwart gepass. HECOFIX PLUS verz spaanplaatschr. met kruisgleuf 3.5 * 30 mm A1A1DZ0353000 12
3 A9GR114102100 rubber ring rond 18*10*22 mm - 8
4 VR027 - - 2
5 C1B12B0802300 houtmoer M8*23 mm met kraag ( zwart verzinkt ) - 1
6 TR011 ophangbeugeltje_1 - 1
7 TR004 ophangbeugeltje_2 - 2
8 TR012 ophangbeugeltje_3 - 1
9 VR001H Description Artikelnr. 1



1

1

1

1

1

2

2

2

2

3

4

4

4

45

5

5

5

6

6

6

6

7

7

7

7

8

9

10

12

12

12

13

14

14

15

11

page 13

Set of rails for Marimba Concert

14 PMA07 Spacer bracket, 179 mm

Rail #4 for Concert Marimba, assembledPM1404
Rail #3 for Concert Marimba, assembledPM1403
Rail #2 for Concert Marimba, assembledPM1402
Rail #1 for Concert Marimba, assembledPM1401

Cross recessed panhead tapping screw 2.2x6.5, black

Spacer bracket, 55 mmPMA0613
Rubber distance blockPM01612
Hinge for rails marimbaPB71711
Mallet holder for marimba / xylophonePM05610

2
1

5
4
3

PB124
PB128
PB141
PM104
PM000

Head tapping screw 2.9x19 mm, black
Cross recessed countersunk head tapping screw 3.5x20, black

Gaf open
Rubber buffer cap, black

8
7
6

PM1149

PM043
PM002
PM106

Cilindrical corner pen
Rubber sleeve Ø11xØ7,5x21, black
Name plate Adams, gold
Type plate Adams: Marimba Concert

Description
Set of rails for Concert Marimba, assembled029

Cat#

Cat#Pos# Description

Rail #4

Rail #3

Rail #2

Rail #1

Cross recessed countersunk head taping screw 4.8x19, blackPB12115

0000 



page 14

Set of rails for Marimba Soloist

Cross recessed countersunk head tapping screw 3.5x20, black

1

2

3

4

4

4

45

5

5

5
11

11

11

11

11

11

6

6

6

6

8

7

9

1

12

13

14

1

1

1

2

2

2Rail #1

Rail #2

Rail #3

Rail #4

Mallet holder for marimba / xylophonePM0569
Type plate Adams: Marimba SolistPM1158

Description
1

4
3
2

Pos# Cat#
PB124
PB128
PB141
PM104

Head tapping screw 2.9x19 mm, black

Cross recessed panhead tapping screw 2.2x6.5, black
Gaf open

6

11

5

PM1067

PM003A

PM016

PM043
Rubber sleeve 12x10x23, black

Rubber distance block

Cilindrical corner pen
Name plate Adams, gold

12

10 PB717 Hinge for rails marimba

PMA08 Spacer bracket, 55 mm
Spacer bracket, 175 mmPMA2513

14 PMA07 Spacer bracket, 180 mm

PM1431

PM1434
PM1433
PM1432

Rail #1 for Solist Marimba 4 1/3 oct, assembled
Rail #2 for Solist Marimba 4 1/3 oct, assembled
Rail #3 for Solist Marimba 4 1/3 oct, assembled
Rail #4 for Solist Marimba 4 1/3 oct, assembled

032 Set of rails for Solist Marimba 4 1/3 oct, assembled
PM1424 Rail #4 for Solist Marimba 4 oct, assembled
PM1423 Rail #3 for Solist Marimba 4 oct, assembled
PM1422 Rail #2 for Solist Marimba 4 oct, assembled

Rail #1 for Solist Marimba 4 oct, assembledPM1421

PM1414 Rail #4 for Solist Junior Marimba 3 oct, assembled
PM1413 Rail #3 for Solist Junior Marimba 3 oct, assembled
PM1412 Rail #2 for Solist Junior Marimba 3 oct, assembled
PM1411 Rail #1 for Solist Junior Marimba 3 oct, assembled

031 Set of rails for Solist Marimba 4 oct, assembled

Set of rails for Solist Junior Marimba 3 oct, assembled030
Cat# Description

10

10

10

10

ONLY for Marimba Solist 4 1/3 oct.
ONLY for Marimba Solist 4 1/3 oct.

ONLY for Marimba Solist 4 1/3 oct.
ONLY for Marimba Solist 4 1/3 oct.



page 15

Set of rails for Xylophone Concert

Cross recessed countersunk head tapping screw 3.5x20, black

1

2

3

4

4

4

45

5

5

5
11

11

11

11

11

11

6

6

6

6

8

7

9

1

12

13

13

1

1

1

2

2

2Rail #1

Rail #2

Rail #3

Rail #4

Mallet holder for marimba / xylophonePM0569
Type plate Adams: Xylophone ConcertPM1158

Description
1

4
3
2

Pos# Cat#
PB124
PB128
PB141
PM104

Head tapping screw 2.9x19 mm, black

Cross recessed panhead tapping screw 2.2x6.5, black
Gaf open

6

11

5

PM1067

PM003A

PM016

PM043
Rubber sleeve 12x10x23, black

Rubber distance block

Cilindrical corner pen
Name plate Adams, gold

12

10 PB717 Hinge for rails marimba

PMA08 Spacer bracket, 55 mm
Spacer bracket, 173 mm for Xylophone Concert quint tunedPMA2613

10

10

10

10

PM1451
PM1452

PM1454
PM1453

PM1444
PM1443
PM1442

034
Rail #1 for Concert Xylophone octave tuned, assembled
Set of rails for Concert Xylophone octave tuned, assembled

Rail #2 for Concert Xylophone octave tuned, assembled
Rail #3 for Concert Xylophone octave tuned, assembled
Rail #4 for Concert Xylophone octave tuned, assembled

Rail #4 for Concert Xylophone quint tuned, assembled
Rail #3 for Concert Xylophone quint tuned, assembled
Rail #2 for Concert Xylophone quint tuned, assembled

PM1441 Rail #1 for Concert Xylophone quint tuned, assembled

Description
Set of rails for Concert Xylophone quint tuned, assembled033

Cat#

Spacer bracket, 180 mm for Xylophone Concert octave tunedPMA2714



page 16

Set of rails for Xylophone Soloist
quint tuned

Cross recessed countersunk head tapping screw 3.5x20, black

1

2

3

4

4

4

45

5

5

5
11

11

11

11

11

11

6

6

6

6

8

7

9

1

12

13

13

1

1

1

2

2

2Rail #1

Rail #2

Rail #3

Rail #4

Mallet holder for marimba / xylophonePM0569
Type plate Adams: Xylophone SolistPM1158

Description
1

4
3
2

Pos# Cat#
PB124
PB128
PB141
PM104

Head tapping screw 2.9x19 mm, black

Cross recessed panhead tapping screw 2.2x6.5, black
Gaf open

6

11

5

PM1067

PM003A

PM016

PM043
Rubber sleeve 12x10x23, black

Rubber distance block

Cilindrical corner pen
Name plate Adams, gold

12

10 PB717 Hinge for rails marimba

PMA23 Spacer bracket, 40 mm
Spacer bracket, 130 mm13

10

10

10

10

PM1471
PM1472

PM1474
PM1473

PM1464
PM1463
PM1462

036
Rail #1 for Solist Xylophone 4 oct. quint tuned, assembled
Set of rails for Solist Xylophone 4 oct. quint tuned, assembled

Rail #2 for Solist Xylophone 4 oct. quint tuned, assembled
Rail #3 for Solist Xylophone 4 oct. quint tuned, assembled
Rail #4 for Solist Xylophone 4 oct. quint tuned, assembled

Rail #4 for Solist Xylophone 3.5 oct. quint tuned, assembled
Rail #3 for Solist Xylophone 3.5 oct. quint tuned, assembled
Rail #2 for Solist Xylophone 3.5 oct. quint tuned, assembled

PM1461 Rail #1 for Solist Xylophone 3.5 oct. quint tuned, assembled

Description
Set of rails for Solist Xylophone 3.5 oct. quint tuned, assembled035

Cat#

PMA24



page 17

Set of rails for Xylophone Soloist
octave tuned

Cross recessed countersunk head tapping screw 3.5x20, black

1

2

3

4

4

4

45

5

5

5
11

11

11

11

11

11

6

6

6

6

8

7

9

1

12

13

13

1

1

1

2

2

2Rail #1

Rail #2

Rail #3

Rail #4

Mallet holder for marimba / xylophonePM0569
Type plate Adams: Xylophone SolistPM1158

Description
1

4
3
2

Pos# Cat#
PB124
PB128
PB141
PM104

Head tapping screw 2.9x19 mm, black

Cross recessed panhead tapping screw 2.2x6.5, black
Gaf open

6

11

5

PM1067

PM003A

PM016

PM043
Rubber sleeve 12x10x23, black

Rubber distance block

Cilindrical corner pen
Name plate Adams, gold

12

10 PB717 Hinge for rails marimba

PMA21 Spacer bracket, 30 mm
Spacer bracket, 107 mm13

10

10

10

10

DescriptionCat#

PMA22

Set of rails for Solist Xylophone 3.5 oct. octave tuned, assembled

Rail #2 for Solist Xylophone 3.5 oct. octave tuned, assembled
Rail #1 for Solist Xylophone 3.5 oct. octave tuned, assembled

Rail #3 for Solist Xylophone 3.5 oct. octave tuned, assembled

Set of rails for Solist Xylophone 4 oct. octave tuned, assembled
Rail #1 for Solist Xylophone 4 oct. octave tuned, assembled
Rail #2 for Solist Xylophone 4 oct. octave tuned, assembled
Rail #3 for Solist Xylophone 4 oct. octave tuned, assembled
Rail #4 for Solist Xylophone 4 oct. octave tuned, assembled

Rail #4 for Solist Xylophone 3.5 oct. octave tuned, assembled

037
PM1481
PM1482
PM1483

038
PM1491
PM1492
PM1493
PM1494

PM1484



page 18

Resonators Marimba

008B
008A

008 Set of resonators Solist Marimba 4 1/3 oct., assembled
Accidental resonators Solist Marimba 4 1/3 oct., assembled
Natural resonators Solist Marimba 4 1/3 oct., assembled

007

007B
007A

Set of resonators Solist Marimba 4 oct., assembled
Accidental resonators Solist Marimba 4 oct., assembled
Natural resonators Solist Marimba 4 oct., assembled

Set of resonators Solist Junior Marimba 3 oct., assembled
Accidental resonators Solist Junior Marimba 3 oct., assembled
Natural resonators Solist Junior Marimba 3 oct., assembled006B

006A
006

Natural resonators Concert Marimba, assembled005B
005A Accidental resonators Concert Marimba, assembled

Description
Set of resonators Concert Marimba, assembled005

Cat#

Description
1

3
2

Pos# Cat#
PB321
PM150

Hexagon domed cap nuts M6, black
Rubber protection

PB712 Hinge bolt M6x175 mm, black

Accidental resonators

Natural resonators

1

1

2

2
3

3



1

2

3

1

2

3

page 19

Resonators Xylophone

Accidental resonators

Natural resonators

012B
012A

012 Set of resonators Solist Xylophone 4 oct., assembled
Accidental resonators Solist Xylophone 4 oct., assembled
Natural resonators Solist Xylophone 4 oct., assembled

011

011B
011A

Set of resonators Solist Xylophone 3.5 oct., assembled
Accidental resonators Solist Xylophone 3.5 oct., assembled
Natural resonators Solist Xylophone 3.5 oct., assembled

Set of resonators Concert Xylophone octave tuned, assembled
Accidental resonators Concert Xylophone octave tuned, assembled
Natural resonators Concert Xylophone quint tuned, assembled010B

010A
010

Natural resonators Concert Xylophone quint tuned, assembled009B
009A Accidental resonators Concert Xylophone quint tuned, assembled

Description
1

Pos# Cat#
PB320 Hexagon domed cap nut M5, black

Description
Set of resonators Concert Xylophone quint tuned, assembled009

Cat#

Hinge bolt M5, blackPB7193
Rubber protectionPM1502

I 

I 

'o 

(AD4MS) 

I 

I 

~ 



1
1

12

3

4

5

6

78

9

9

page 20

Connecting rod

PM060XSKK Connection rod solist xylophone zelon 3.5 oct.

PMA46
Connecting rod solist xylophone zelon, assembled

table I (pos 9)

Connection rod solist marimba 4 1/3 oct.PM065MS43

DescriptionCat#
PM067

Type
MC43 Connection rod concert marimba 4 1/3 oct.

Brace voyager frame, black
Cat# is dependet on instrument, see table I

Connection bracket for connection rod
Brace holder for voyager frame

Steel insert protection
Plain washer rubber M3, black

Wingnut plastic M8
Wing screw plastic M8x20, black

PM024
PM046
PM045
-

PM005
PM021
PB523
PB509

9
8
7
6
5
4
3
2

PMA73 Connecting rod solist marimba 4 1/3 oct., assembled

Description
1

Pos# Cat#
PB098 Hexagon socket set screw M8 x 10, black

Description
Connecting rod concert marimba, assembledPMA71

Cat#

Connection rod solist junior marimba 3 oct.PM059MJ30
Connection rod solist marimba 4 oct.PM064MS40

Connection rod concert xylophone quint tuned

PM061

XC1

Connection rod solist xylophone 3.5 oct.

PM063

XS35
Connection rod solist xylophone 4 oct.

PM060
XS40

Connection rod concert xylophone octave tunedPM062XC2

Connecting rod solist junior marimba 3 oct., assembledPMA44
Connecting rod solist marimba 4 oct., assembledPMA72

PMA47
Connecting rod solist xylophone 4 oct., assembled

PMA45 Connecting rod solist xylophone 3 1/2 oct., assembled

Connecting rod concert xylophone quint tuned, assembledPMA49
Connecting rod concert xylophone octave tuned, assembledPMA48

--------- (AD4MS)- ------

shawnlafrenz
Callout
1552 mm length



1

2

4

3

5

5

1

2

4

3

5

1

2

4

3

5

1

2

4

3
page 21

Leg with wheel

Wing screw plastic M8x20, black

Hexagon prevailing torque nut M10
Plain washer M10

Castor with double break, 125 mm

PB508
PB408
PB312
PBW11

5
4
3
2

Description
1

Pos# Cat#
PM140 Left leg long model, black

Description
LEFT leg with wheel for Marimba Solist 4 1/3 oct & Marimba Concert PMA102

Cat#

Cat#
PMA103 RIGHT leg with wheel for Marimba Solist 4 1/3 oct & Marimba Concert 

Description

Right leg long model, blackPM141
Cat#Pos#

1
Description

2
3
4
5

PBW11
PB312
PB408
PB508

Castor with double break, 125 mm

Plain washer M10
Hexagon prevailing torque nut M10

Wing screw plastic M8x20, black

Wing screw plastic M8x20, black

Hexagon prevailing torque nut M10
Plain washer M10

Castor with double break, 125 mm

PB508
PB408
PB312
PBW11

5
4
3
2

Description
1

Pos# Cat#
PM142 Left leg short model, black

Description
LEFT leg with wheel for Xylophone & Marimba Junior 3 oct. & Marimba Solist 4 oct.PMA106

Cat#

Cat#
PMA107 RIGHT leg with wheel for Xylophone & Marimba Junior 3 oct. & Marimba Solist 4 oct.

Description

Right leg short model, blackPM143
Cat#Pos#

1
Description

2
3
4
5

PBW11
PB312
PB408
PB508

Castor with double break, 125 mm

Plain washer M10
Hexagon prevailing torque nut M10

Wing screw plastic M8x20, black

--------- (AD4MS)- ------



Cat#
084 Set of bars for concert marimba rosewood 4 1/3 octave

Description

Spring for cord barsPBC17
Cat#Pos#

1
Description

2 - Cord set complete, cat# is dependet on instrument, see table I

C
#2

D
#2

G
#2

A
#2

C
#3

D
#3 F#
3

G
#3

A
#3

F#
2

C
#4

D
#4 F#
4

G
#4

A
#4

A
#5

G
#5

F#
5

D
#5

C
#5 A
#6

G
#6

F#
6

D
#6

C
#6

C
4

A
2

G
2F2D
2

C
2

A
3

G
3F3D
3

C
3

D
5

C
5

D
4

A
4

G
4F4 C
6

A
5

G
5F5 D
6

C
7

A
6

G
6F6E
2

B
2

E
3

B
3

E
4

B
4

E
5

B
5

E
6

B
6

MC - MS43

MSPV40

MSPVJ30

Set of bars for concert marimba padouk 4 1/3 octave085
Set of bars for concert marimba zelon 4 1/3 octave101
Set of bars for solist junior marimba padouk 3 octave086
Set of bars for solist marimba padouk 4 octave 087

089
088 Set of bars for solist marimba padouk 4 1/3 octave 

Set of bars for solist marimba rosewood 4 1/3 octave 

3 - Bars, cat# is dependet on instrument, see table II

Cord set complete for concert marimba (2 cords + 4 springs)

Cord set complete for solist marimba 4 octave (2 cords + 4 springs)
Cord set complete for solist marimba 4 1/3 octave (2 cords + 4 springs)

Cord set complete for solist junior marimba 3 octave (2 cords + 4 springs)

PM125

PM126

PM123
PM121

Bar for concert marimba rosewood
Bar for concert marimba padouk 4 1/3 octave
Bar for concert marimba zelon 4 1/3 octave
Bar for solist junior marimba padouk 3 octave
Bar for solist marimba padouk 4 octave 
Bar for solist marimba padouk 4 1/3 octave 
Bar for solist marimba rosewood 4 1/3 octave 

DescriptionCat#

Description

table I (pos 2)
Type

MS43

MSPVJ30
MS40

MC

table II (pos 3)

MCRW + note
Cat#

MCPD + note
MCSY + note
MSPD + note
MSPD + note
MSPD + note
MSRW + note

e.g.
MCRWC4 , MCRWC#4
MCPDC4 , MCPDC#4

MSPDC4 , MSPDC#4
MCSYC4 , MCSYC#4

MSPDC4 , MSPDC#4
MSRWC4 , MSRWC#4

MSPDC4 , MSPDC#4

Set of bars, Marimba

page 22

1

2
3

J 

6 

----------- (AD4MS)- ---------



C
#4

C
4 F6E
5

A
4

E
4

D
4

G
4F4 C
5

B
4

D
5

B
5

G
5F5 A
5

D
6

C
6

E
6

D
#5

G
#4

D
#4 F#
4

A
#4

C
#5 A
#5

F#
5

G
#5

C
#6

D
#6

G
7

C
7

A
6

G
6

B
6

E
7

D
7 F7 B
7

A
7

C
8

G
#7

G
#6F#
6

A
#6

D
#7

C
#7 F#
7

A
#7

XS2LD30

XS35

XC - XS40

Description
Set of bars for concert xylophone rosewood, quint tuned090

Cat#

Set of bars for concert xylophone rosewood, octave tuned091

Set of bars for solist xylophone rosewood 3.5 octave, octave tuned094
Set of bars for solist xylophone rosewood 4 octave, octave tuned095

Set of bars for solist xylophone light rosewood 3.5 octave098
Set of bars for solist xylophone light rosewood 4 octave099

Set of bars for solist xylophone zelon 3.5 oct., octave tuned096

Set of bars for solist xylophone zelon 3.5 oct., quint tuned100

-2 Cord set complete, cat# is dependet on instrument, see table I

Description
Spring for cord bars

Pos#
1 PBC17

Cat#

Cord set complete for concert xylophone, quint tuned (2 cords + 4 springs)

Cord set complete for solist xylophone 3.5 oct., quint tuned (2 cords + 4 springs)
Cord set complete for concert xylophone, octave tuned (2 cords + 4 springs)

PM122

PM124

PM120
PM123

Bars for concert xylophone rosewood, quint tuned

Bars for solist xylophone rosewood, quint tuned

DescriptionCat#

Description

table I (pos 2)
Type

XS140

XC2
XS135

XC1

table II (pos 3)

XC1RW + note
Cat# e.g.

XC1RWC5 or XC1RWC#5

Bars, cat# is dependet on instrument, see table II-3

092
093

Set of bars for solist xylophone rosewood 3.5 octave, quint tuned
Set of bars for solist xylophone rosewood 4 octave, quint tuned

PM122
PM120XS235

XS240

Cord set complete for solist xylophone 4 oct., quint tuned (2 cords + 4 springs)

Cord set complete for solist xylophone 4 oct., octave tuned (2 cords + 4 springs)
Cord set complete for solist xylophone 3.5 oct., octave tuned (2 cords + 4 springs)

Bars for concert xylophone rosewood, octave tuned

Bars for solist xylophone rosewood, octave tuned

Bars for solist xylophone zelon, quint tuned
Bars for solist xylophone zelon, octave tuned

Bars for solist xylophone light rosewood

XC2RWC5 or XC2RWC#5XC2RW + note
XS1RW + note XS1RWC5 or XS1RWC#5

XS2RWC5 or XS2RWC#5XS2RW + note
XS2LRC5 or XS2LRC#5XS2LR + note
XS1SYC5 or XS1SYC#5XS1SY + note
XS2SYC5 or XS2SYC#5XS2SY + note

Set of bars, xylophone

page 23

(( IL D 

------(AD4MS)----


	XM00
	XM01
	Layout1
	Drawing View1
	Drawing View3


	XM02
	Layout1
	Drawing View1


	XM03
	Layout1
	Drawing View1


	XM04
	Layout1
	Drawing View1


	XM05
	Layout1
	Drawing View1


	XM06
	Layout1
	Drawing View1


	XM07
	Layout1
	Drawing View1


	XM08
	Layout1
	Drawing View1


	XM09
	Layout1
	Drawing View8
	Drawing View4
	Drawing View7
	Drawing View9


	XM10
	Layout1
	Drawing View1
	Drawing View2
	Drawing View24


	XM11
	Layout1

	XM12
	Layout1
	Drawing View1
	Drawing View24


	XM13
	Layout1
	Drawing View1
	Drawing View16


	XM14
	Layout1

	XM15
	Layout1

	XM16
	Layout1

	XM17
	Layout1

	XM18
	Layout1

	XM19
	Layout1
	Drawing View1
	Drawing View16


	XM20
	Layout1
	Drawing View1
	Drawing View2


	XM21
	Layout1
	Drawing View1
	Drawing View2
	Drawing View24
	Drawing View25


	XM22
	Layout1

	XM23
	Layout1




